Balancing Chemical Reactions

Balance the following chemical equations.

@) HO,>__ HO+O,
) _ FeO,+_ C>_  Fe+_ (O,
©___ NO+O,>__ NO,
(d__ NH,+ 0,>__ NO+ H,0
(e Li+ HO->  LOH+H,
(f)___ CO,+ H,0 > CH, O, + o,
(@) SiCl,+ _ HO->HSIO, +_  HCl
(hy __ Al+_ HA->__ AICL+__ H
(MNa,CO,+__ HCO->__ NaCl+H.O + CO,
(j) CH.O, + 0,>_ CO,+ H.,0
(k) Fe,(SO),+  KOH~> KSO,+  Fe(OH),
M ___ Ca(PO),+__ SiO,»PO, +__  CaSiO,
(m) AL(SO),+  Ca(OH),> __ AIlOH),+ __ CaSO,
(MHSO,+  HI>HS+ |+ H,0
(0) CH, + 0,  CO,+ H.,0




Balancing Chemical Reactions

Answers

@_2 HO~>_2 HO+O,

(b) 2 FeO,+_ 3 C> 4 Fe+ 3 CO

() 2 Li+_2 HO->_2 LOH+H,

(f) 6 CO,+_ 6 HO>CHO +_ 6 O

6 1276 2

(9)SiCl,+ 4 HO-HSIO,+ 4 HCl

() _2 Al+_6 HC->_2 ACL+_3 H

2

(HNa,CO,+ _ 2 HC~->_2 NaCl+HO+ (O,

) _2 CHO,+_ 15 O,»_ 14 CO,+_6 HO

2 2 2

(k) Fe,(SO),+ 6 KOH-> _3 KSO,+__2 Fe(OH),

I _2 CalPO),+_6 SiO,>P0O, +__6 (CaSio,

(m) AL(SO),+ 3  CalOH),> _2 AIOH),+ _3 CaSo,

(nHSO,+_8 HI-HS+_ 4 L+_ 4 HO

2 2

(0 2 CH+ 7 O->_ 4 (CO,+ 6 HO

26 2 2 2
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